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$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

—rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r--r-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —--help
Usage: ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of —-cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
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$ python prog.py
$ python prog.py —-help
usage: prog.py [-h]

options:
-h, —--help show this help message and exit
$ python prog.py --verbose
usage: prog.py [—-h]
prog.py: error: unrecognized arguments: —--verbose
$ python prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo")

args = parser.parse_args()

print (args.echo)

BT

$ python prog.py

usage: prog.py [—h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py —--help

usage: prog.py [—-h] echo

positional arguments:
echo

options:

-h, —--help show this help message and exit
$ python prog.py foo
foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args ()

print (args.echo)

RRBATFHE

$ python prog.py -h
usage: prog.py [-h] echo

positional arguments:
echo echo the string you use here
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options:
-h, —--help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args ()

print (args.square**2)
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$ python prog.py 4
Traceback (most recent call last):
File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args ()

print (args.square**2)

PATR RZAUHE i F T4 R

$ python prog.py 4

16

$ python prog.py four

usage: prog.py [-h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args ()
if args.verbosity:
print ("verbosity turned on")

Ak -

$ python prog.py —--verbosity 1

verbosity turned on

$ python prog.py

$ python prog.py —--help

usage: prog.py [-h] [--verbosity VERBOSITY]
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options:
-h, --help show this help message and exit
—--verbosity VERBOSITY
increase output verbosity
$ python prog.py —-verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]

prog.py: error: argument —--verbosity: expected one argument
(el = =) .
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store_true")
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")
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$ python prog.py —--verbose

verbosity turned on

$ python prog.py —-verbose 1

usage: prog.py [-h] [—--verbose]

prog.py: error: unrecognized arguments: 1
$ python prog.py —--help

usage: prog.py [-h] [—--verbose]

options:
-h, --help show this help message and exit
—--verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",

Gy




(B L)
action="store_true")
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

ORI

$ python prog.py -v
verbosity turned on
$ python prog.py —--help
usage: prog.py [-h] [-V]

options:
-h, --help show this help message and exit
-v, —--verbose 1increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store true",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbose:
print (f"the square of {args.square/ equals {answer /")
else:
print (answer)

P TR

$ python prog.py

usage: prog.py [-h] [-v] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 —-verbose

the square of 4 equals 16

$ python prog.py —--verbose 4

the square of 4 equals 16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")
args = parser.parse_args ()




answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer /")
elif args.verbosity == 1:
print (f"/args.square /"2 == {answer /")
else:
print (answer)

(% L 50)
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$ python prog.py 4

16
$ python prog.py 4 -v
usage: prog.py [-h] [-v VERBOSITY] square

prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer /")
elif args.verbosity == 1:
print (f"/args.square /"2 == {answer /")
else:
print (answer)

Al i -

$ python prog.py 4 -v 3
usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0,

$ python prog.py 4 -h
usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
q
options:

-h, --help show this help message and exit

-v, —--verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity == 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (£"/args.square /"2 == {answer /")
else:

print (answer)

FATFIA T 5 —FhBhfE"count”, SREETIHEE LI H B R AL -

$ python prog.py 4

16
$ python prog.py 4 -v
472 == 16

$ python prog.py 4 -vv

the square of 4 equals 16

$ python prog.py 4 —--verbosity —-verbosity
the square of 4 equals 16

$ python prog.py 4 -v 1

usage: prog.py [-h] [-v] square

prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h

usage: prog.py [-h] [-v] square

positional arguments:

square display a square of a given number
options:

-h, —--help show this help message and exit

-v, —--verbosity increase output verbosity

$ python prog.py 4 -vvv
16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")



args = parser.parse_args ()
answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square/ equals {answer /")
elif args.verbosity >= 1:
print (f"/args.square /"2 == {answer /")
else:
print (answer)

(% L 50)
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$ python prog.py 4 -vvv
the square of 4 equals 16
$ python prog.py 4 -vvvv
the square of 4 equals 16
$ python prog.py 4
Traceback (most recent call last):

File "prog.py", line 11, in <module>

if args.verbosity >= 2:

TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o HodHRLY, BT ZH bug. WHDZUL, AR B >=2 BERATREER.

o S = A IR
EFEAVBIZIEA bug:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity >= 2:
print (f"the square of {args.square/ equals {answer /")
elif args.verbosity >= 1:
print (f" {args.square /"2 == {answer}")
else:
print (answer)

FATRIRIGIA T X —AHi i KT default, FAHEEBREN 0 RiLEW DAS HANBEBEM B L. 2
£, BOATE L F AR — RS HO A IS E . EREHSZE None, I HERRERBEEMELE (FreA™

H: T TypeError B,

VYRR

$ python prog.py 4
16
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import argparse

parser = argparse.ArgumentParser ()
add_argument ("x",

add_argument ("y",

parser. type=int, help="the base")

parser. type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count",

args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x} to the power

{args.y} equals

elif args.verbosity >= 1:

print (f"/args.x /" {args.y/}/ == {answer ")
else:

print (answer)

default=0)

{answer /")

B -

$ python prog.py

usage: prog.py [—h]
pProg.py: the
$ python prog.py -h
prog.py [-h]

[-v] x ¥y

error: following arguments are required: x,

usage: [-v] x ¥y
positional arguments:
X the base

y the exponent

options:
-h, --help show this help message and exit
-v, —-verbosity

$ python prog.py 4 2 -v

472 == 16

Yy

TR R H BN IR FRAT A NG R ® AT SR SCA . AR R B 6 RNk R £

% 04 3CAR:

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count",
args = parser.parse_args ()

answer = args.x**args.y

if args.verbosity >= 2:

print (f"Running '{__file_}'")
if args.verbosity >= 1:
print (f"{args.x}"{args.y} == ", end="")

print (answer)

default=0)

i -

$ python prog.py 4 2

16
$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'
472 16

10
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YR E — NS ECR AL E S BIE R MNE T 75— DS EAFAE B, AIPAE A —- Sk459F parse_args ()
FEEZ RS HR M ESL

>>> parser = argparse.ArgumentParser (prog='PROG')
>>> parser.add_argument ('-n', nargs='+")
>>> parser.add_argument ('args', nargs='*")

>>> # ambiguous, so parse_args assumes it's an option

>>> parser.parse_args(['-f'])

usage: PROG [-h] [-n N [N ...]] [args ...]
PROG: error: unrecognized arguments: -f
>>> parser.parse_args(['-—-', '-f£'])
Namespace (args=['-f'], n=None)

>>> # ambiguous, so the -n option greedily accepts arguments

>>> parser.parse_args(['-n', '1', '2', '3'])
Namespace (args=[], n=["'1"', '2', '3'])

>>> parser.parse_args(['-n', '1', '-——', '2', '3'])
Namespace (args=['2"', '3'], n=['1"])

6.2 X ERYIEIR

FIHuEHIE, AT —EAEMHH argparse.ArgumentParser LB T YE. LBRITENEE=ATE
add_mutually_exclusive_group (). BERVFRNTITEM ARSI RALETT . LEFANTFEAE SRR A H AR
S PAMEGSH N RE A TS FATREFIA ——quiet BHT, BXf5 ——verbose HIFEHIHMI:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add mutually_ exclusive_group ()
group.add_argument ("-v", "--verbose", action="store true")
group.add_argument ("-gq", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer}")
else:

print (f" {args.x}”{args.y} == {answer}")

FATRE P BT EE fa0s 1, AT TR TR EMG L T — L Ihfe. Jo T, il X ren:

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 —qg
16

$ python prog.py 4 2 -v

4 to the power 2 equals 16

$ python prog.py 4 2 -vgq

usage: prog.py [-h] [-v | -g] x ¥y

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v —-—-quiet

usage: prog.py [-h] [-v | —-g] x ¥y

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add mutually_ exclusive_group ()

group.add_argument ("-v", "--verbose", action="store true")
group.add_argument ("-gq", "--quiet", action="store_true")

parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer}")
else:

print (f"/args.x /" {args.y/}/ == {answer'")

Eﬁﬁﬂ%?ﬁiﬂiqjﬁéﬂiiﬁﬂﬁﬁéﬁo HE v | -a), EREEEUEATTABEN —v 8 -, AR
MW

$ python prog.py —--help
usage: prog.py [-h] [-v | —-q] x vy

calculate X to the power of Y

positional arguments:

X the base
vy the exponent
options:
-h, --help show this help message and exit
-v, —-verbose

-g, —-—quiet

7 Wn{aTEHiF argparse By H

argparse WIH ) H B A0 E BIHS B SCAR RIS DR TE AR 1] DUE T gettext BUHUSCILENEE. X AOir . A2
JPERIAA AL argparse FIP~A I E . H1E53 I 118n-howto,

B, FEXA™ argparse it

$ python prog.py —--help
usage: prog.py [-h] [-v | —9] x ¥y

calculate X to the power of Y

positional arguments:

X the base
vy the exponent
options:
-h, —--help show this help message and exit
-v, —-verbose
-g, —-—quiet

12




%Zfﬁﬁg usage:, positional arguments:, options: ﬂ]show this help message and exit %Bﬁ%ﬁI

R
BRI TRR, AU ETHRIE A oo SCRFH. BIAT, B Babel, EFTIRA A4

[$ pybabel extract -o messages.po /usr/lib/python3.12/argparse.py ]

AR argparse BIEEEHUITA AT BHIER FAFER . R4 H 844 4 messages.po BSCAFH . Ity
AR EVRE Python “Z23E( B /usr/1ib.

PRATPABE I AR A A4k argparse BEHE RGE A fE :

import argparse J

print (argparse._ file )

—H .po UM SCAERBIIESE I gettext LR T, argparse FFRERZA#IFEIIEE .
FFAE argparse HH R IITATH, THHIH gettext,

8 BT NLKEFiRE
argparse B RFLON AT SATSHAGE A2 ORI AR . X OEESRESLE M i AAFA#TE argparse.
Namespace " Z B HAATIE R, TG ZAERE 7 p (0 d A B HE T AR BRI, X AR

1 E € SCRBU A gy, AT DARE AR MR X 5, SN REZ A TR S (SHUH) HFR R
AR, B2, WPRTEACME SO, W LAMIHAA action JEZH) A & (a1

fan, (s AL BT A AN R BT 2R 00 S B0 R B b T b B

import argparse

parser = argparse.ArgumentParser (prefix_chars='-+")

parser.add_argument ('-a', metavar='<value>', action='append',
type=lambda x: ('-', x))

parser.add_argument ('+a', metavar='<value>', action='append',
type=lambda x: ('+', x))

args = parser.parse_args ()

print (args)

i

$ python prog.py -a valuel +a value2

Namespace (a=[('-', 'valuel'), ('+', 'value2')]

HEXA T, Fdi]:
o ffi ] “prefix_chars* JES A TH A H € LHIZ T4 BT o

o LT ISR il “wat, BN “type” JES 0 A SR, DABEIHEAF e A Al
.

WERBA B B, SR “-a Fll “+a BN — DS, KRR Sl 6] B E L3k
B AR, FATRERE X XS4

9 Fic

BT X HLERIYNEE, argparse BIHUASRIL THEZIIRE. BRI YT SE R, S RERSI. 5E
XA EAREL G VR A% BEZE AN IR XD 5212230 o
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